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SLO Review:  Intro to Trig and Matrices 


Intro to Trig
Complete the missing information in the following table:
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Find the exact value:
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16.  Find the reference angle, 1 positive, and 1 negative coterminal angle.
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17)  Find the quadrant that  
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Matrices
1. Multiply:  
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2. Multiply:  
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3. What matrix would you multiply by to solve the following:
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b.  
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4. If you multiply matrix 
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5. If you multiply matrix 
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6. Evaluate:  
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7. Evaluate:  
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Conics

1. Identify the shape of each conic:
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2. Find the length of the major axis for each ellipse and the foci:
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3. Find the foci for each of the following:
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4. Write the equation for the following graph:  
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